EVERWIN VIDHYASHRAM
STD:V-VI CONQUERING MATH - 2019 - 2020
1. Add one line to make it finel 5+ 5+ 5 + 5 = 555
Ans: 545 + 5 + 5 = 555
2. Make 4 triangles with these lines | | | | | |. Ans: 4 A\
3. The cost of a egg is ¥8. What is the cost of 9 eggs? Ans: 8 x 9 =372
4. T am a king who's good at measuring stuff. What am I?
Ans: Ruler or Scale
5. Mr. Smith has 4 daughters. Each of his daughters has a brother. How

many children does Mr. Smith have? Ans: 4+1=5
6. Below equation is true 8 + 8 = 91 How? Ans: 8¥8=01
16=8+8
7. Ramya had Rs 125. She spent Rs 40 to buy ice cream and Rs 25 to buy
pen. How much rupees is left with her? Ans: Rs. 60’
8. I am an odd number, take away an alphabet and I become Even. What
number am I? Ans: Eeven (7)

9. All five sisters are busy. Pavi is reading a book, Geetha is playing
Chess, and Mary is doing the laundry, What's the fifth sister doing?
Ans: Playing Chess with Geetha
10. Ram gave Rs. 12.50 to the bus conductor. Conductor gave Rs. 2.25
back to him. How much is a cost of ticket? Ans: Rs. 10.25
11. Complete the pattern. ABCD: WXYZ :: P? 2?2 S: EFGH.  Ans: PQRS
12. Blood relation: X and Y are brothers. R is the father of Y. T is the
wife of R. How T is related to X? Ans: Mother
13. A is B's sister. C is B's mother. D is C's Father, E is D's mother. How
is A related to D? Ans: Grand daughter
14. A, B, C,E, Fand G are 7 friends sitting in a single row facing north.
Clues: 1.D is to the immediate right of C
2. E and A are neigbhours of F.
3. Bis to the immediate left of C and on second place from left
most end.
4. A is at the right most end.
Questions:
a) Who is in between C and E?
¢) What is the position of E?
Ans: Clues answers; GBCDEF A
a) D b)B, C,D c) 5™ from left/3™ from right
15. Pratheeksha went to food court. She ordered fruit salad cost Rs.
75.50 and strawberry ice cream Rs. 60. How much rupees she spent
in the food court? Ans: 135.50

b) Who are the neighbours of G?
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